[bookmark: _GoBack]> model.a$coef
(l1):(Intercept)          (l1):x1          (l1):x2          (l1):x3 
   10.9521044750    -0.0741227314     0.0073247459    -0.0206256675 
         (l1):x4          (l1):x5          (l1):x6          (l1):x7 
    0.0421942857    -0.0008676152     0.0022570703     0.0070821756 
         (l1):x8 (l2):(Intercept)          (l2):x1          (l2):x2 
   -0.0164393955    50.0105982343    -4.3691146099     2.6190925404 
         (l2):x3          (l2):x4          (l2):x5          (l2):x6 
   -0.4705166898     1.5106472535     0.2198567864     0.0742811122 
         (l2):x7          (l2):x8 (l3):(Intercept) 
   -0.1464953337    -0.0419188773     2.7820619628 
> model.a$parameters
[1] 19
> model.a$AIC
Saturated   BivPois 
 557.3341 2442.5858 
> model.a$loglikelihood
 [1] -58566.718  -1265.831  -1258.835  -1247.655  -1235.755  -1227.692
 [7]  -1222.456  -1217.344  -1211.830  -1207.481  -1205.302  -1204.287
[13]  -1203.665  -1203.208  -1202.872  -1202.640  -1202.491  -1202.402
[19]  -1202.351  -1202.323  -1202.308  -1202.301  -1202.297  -1202.295
[25]  -1202.294  -1202.294  -1202.293  -1202.293  -1202.293  -1202.293
[31]  -1202.293  -1202.293  -1202.293  -1202.293  -1202.293  -1202.293

